Exit Ticket H4 - Trial and Improvement

Which of these is a good idea for the next step to
solve this equation by trial and improvement?

A) Tryx=1.01 |so|vex°+2x=5(uu.p) |
X | x4 2x | 6
B)TTVX=3 1 P+2x1=3 too small
2 |2*+2x2=12 too big

C)Tryx=1.3

D)Tryx=1.9

Which of these is a good idea for the next step to
solve this equation by trial and improvement?

A)Tryx=1.4 lScIvex’+Lt=6|uu.p) |
x 4+ 2 6
B) Tryx=1.31 | |
1 1342x1=3 too small
2 242x2=12 too big
C)Tryx=3 13 |13%+2x13=4797 too small
D) Tryx=1.2
What is the answer to this trial and
improvement question?
A)x=1.45 ISolvex’+?x=E|uu.| |
x | x3+2v | 6
B)x=1.4 1 [18+2x1=3 too small
2 |2+2x2=12 too big
C) x=1.5 1.3 [1.3%°+2x13=4.797 too small
14 14°4+2x1.4=5544 too small
. 15 [15°4+2x15=6.375 too big
D) You don’t kKnOwW as 45 [14504 2x1.45 = 5.988. t00 small

you have not got an
answer of 6 yet

This quiz was created on www.diagnosticquestions.com.

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD

Explanation:



	Exit Ticket H4 - Trial and Improvement

